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ÍÛæ̃ Û¶ÛÛ :   (1) ¸ÛóÊ¶Û 1 ¬Ûà 4¶ÛÛ ›÷ÈÛÛ¼Û 900 ÉÛ¼þùÛé¾ÛÛ× ÅÛ”ÛÛé. 
Instructions :  Write answers of Q. No. 1 to 4 in 900 words. 
    (2) ¤æ×øïõ¶ÛÛêµÛ …ÛÉÛÁéõ 450 ÉÛ¼þùÛé¾ÛÛ× ÅÛ”ÛÛé. 
     Write answers of short notes in approximately 450 words. 
    (3) ›÷¾Û¨Ûà ¼ÛÛ›ä÷…é ÅÛ”ÛéÅÛ …Û×ïõ¦øÛ •Ûä¨Û þùÉÛÛÙÈÛé ™öé. 
     Figures in right side indicated full marks. 
 
1. ˆ‡•ÅÛé¶¦ø¶Ûà Áõî©ÛÜÈÛÐüà¶Û ’õÛ×Ü©Û¶ÛÛ× ïõÛÁõ¨ÛÛé ÅÛ”ÛÛé. 14 
 Write the causes of bloodless revolution of England. 
    …¬ÛÈÛÛ/OR 
 ˆ‡•ÅÛé¶¦ø¶Ûà Áõî©ÛÜÈÛÐüà¶Û ’õÛ×Ü©Û¶Ûà …ÍÛÁõÛé ›÷¨ÛÛÈÛÛé. 
 Mention the effects of bloodless revolution of England. 
 
2. …¾ÛéÜÁõïõ¶Û ÍÈÛÛ©Û×ªýÛ ÜÈÛ•ÛóÐü¶ÛÛ× ¸ÛÜÁõ¼ÛÇÛé¶Ûä× ÈÛ¨ÛÙ¶Û ïõÁõÛé. 14 
 Describe the reasons of American Revolution of independence. 
  …¬ÛÈÛÛ/OR 
 •Û¾Ûé ©Ûé ¼Ûé ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
 Write notes on any two : 
 (1) »õÛ¶ÍÛ¶Ûà ’õÛ×Ü©Û¶ÛÛ× ïõÛÁõ¨ÛÛé. 
  Causes of the French Revolution. 
 (2) …¾ÛéÜÁõïõ¶Û ’õÛ×Ü©Û¶Ûà …ÍÛÁõÛé. 
  Effects of the American Revolution. 
 (3) »õÛ¶ÍÛ¶Ûà ’õÛ×Ü©Û¶ÛÛ× ¸ÛÜÁõ¨ÛÛ¾ÛÛé 
  Results of French Revolution. 
 (4) Ðü‘õ¶ÛÛé ”ÛÁõ¦øÛé. 
  Bill of Rights. 
 
3. …Ûíé²ÛéÜ•Ûïõ ’õÛ×Ü©Û …é¤øÅÛé ÉÛä× ? …Ûíé²ÛéÜ•Ûïõ ’õÛ×Ü©Û¶ÛÛ× ïõÛÁõ¨ÛÛé þùÉÛÛÙÈÛÛé. 14 
 What is Industrial Revolution ? Mention the reasons of Industrial Revolution. 
   …¬ÛÈÛÛ/OR 
 …Ûíé²ÛéÜ•Ûïõ ’õÛ×Ü©Û¶Ûà …ÍÛÁõÛé ÍÛ¾Û›ÛÈÛÛé. 
 Explain the effects of Industrial Revolution. 
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4. ˆ.ÍÛ. 1917¶Ûà ÁõÜÉÛýÛ¶Û ’õÛ×Ü©Û¶ÛÛ× ¸ÛÜÁõ¼ÛÇÛé¶Ûä× …ÛÅÛé”Û¶Û ïõÁõÛé. 14 
 State the reasons of Russian Revolution of 1917 A.D. 
     …¬ÛÈÛÛ/OR 
 ÁõÜÉÛýÛ¶Û ’õÛ×Ü©Û¶Ûà …ÍÛÁõÛé¶Ûä× ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÛé. 
 Evaluate the effects of Russian Revolution. 
 
5. (A) ”ÛÁõÛ× ïéõ ”ÛÛé¤øÛ× ÅÛ”ÛÛé : 5 
  Write True or False : 
  (1) ÁõÛ›Û ›÷é¾ÍÛ ¼Ûà›Ûé ïéõ¬ÛÛéÜÅÛïõ Ðü©ÛÛé. 
   King Jems Second was a Catholic. 
  (2) …¾ÛéÜÁõïõÛ¶ÛÛ ¸Ûó¬Û¾Û ¸Ûó¾Ûä”Û šýÛÛé›÷Ù ÈÛÛéÝÉÛ•¤ø¶Û Ðü©ÛÛ. 
   George Washington was the First President of America. 
  (3) Ü¦ø¦øÁõÛé…é “ÍÛÛ¾ÛÛÜ›÷ïõ ïõÁõÛÁõ” ¸ÛäÍ©Ûïõ ÅÛ”ýÛä× Ðü©Ûä×. 
   Didero has written the volume ‘Social Contract’. 
  (4) …Ûíé²ÛéÜ•Ûïõ ’õÛ×Ü©Û¶Ûà ÉÛÁäõ…Û©Û ›÷¾ÛÙ¶Ûà¬Ûà ¬Ûˆ. 
   Industrial Revolution started in Germany. 
  (5) ˆ.ÍÛ. 1905¾ÛÛ× ÁõÜÉÛýÛÛ-›Û¸ÛÛ¶Û ÈÛ˜˜Ûé ýÛä±ù ¬ÛýÛä× Ðü©Ûä×. 
   Russia – Japan war was fought in 1905.A.D. 
 (B) ¶Ûà˜Ûé¶Ûà ”ÛÛÅÛà›÷•ýÛÛ ¸ÛæÁõÛé. 5 
  Fill in the blanks : 
  (1) ÁõÛ›Û ›÷é¾ÍÛ ¼Ûà›Û¶ÛÛé •ÛéÁõïõÛýÛþéùÍÛÁõ¶ÛÛé ¸ÛäªÛ ______ Ðü©ÛÛé. 
   _________ was the bastard son of King Jemes – II.  
  (2) ÍÛ¸©ÛÈÛÛÜÌÛÙïõ ýÛä±ù¾ÛÛ× ______¶ÛÛé ¸ÛÁõÛ›÷ýÛ ¬ÛýÛÛé Ðü©ÛÛé. 
   _________ was defeated in seven year war. 
  (3) ÅÛæˆ 14¾ÛÛ…é ______ ¾ÛÛ× …ÛýÛ¶ÛÛ ¾ÛÐéüÅÛ ¼Û×µÛÛÈýÛÛé Ðü©ÛÛé. 
   Lui – 14 built mirror palace in _________. 
  (4) ÁéõÅÛÈÛé …éÜ¶›÷¶Û¶Ûà ÉÛÛéµÛ ______ …é ïõÁõà Ðü©Ûà. 
   _________ invented the steam engine. 
  (5) ÁõÜÉÛýÛÛ¾ÛÛ× ¸Û×˜ÛÈÛÌÛâýÛ ýÛÛé›÷¶ÛÛ ______ …é ÉÛÁä×õ ïõÁõà Ðü©Ûà. 
   _________ started the five year plan in Russia. 
 (C) ýÛÛé•ýÛ ›Ûé¦øïõÛ× ¼Û¶ÛÛÈÛÛé : 4 
  Match the ‘A’ with ‘B’ : 
   A ÜÈÛ½ÛÛ•Û  B ÜÈÛ½ÛÛ•Û 
  (1) ˆ.ÍÛ. 1688 - »õÛ¶ÍÛ¶Ûà ’õÛ×Ü©Û 
   1688 A.D. - Revolution of French 
  (2) ˆ.ÍÛ. 1773 - ¼ÛÛéÍ¤ø¶Û-¤øà-¸ÛÛ¤øâ 
   1773 A.D. - Boston – Tea – Party  
  (3) ˆ.ÍÛ. 1789 - ›÷é¾ÍÛ ¼Ûà›Û¶Ûä× ÉÛÛÍÛ¶Û Ðü©Ûä×. 
   1789 A.D. - Reign of James – II  
  (4) ˆ.ÍÛ. 1917 - ÁõÜÉÛýÛÛ¶Ûà ’õÛ×Ü©Û 
   1917 A.D. - Revolution of Russia. 

 

_____________ 


